8 7

1

[> notes

1. STANDARD GLAZING OPTION — .125"
MINIMUM DSB GLAZING MEETS UNIFORM STATIC
DESIGN PRESSURES SHOWN ON THIS DRAWING.
GLAZING SHALL HAVE A MAXIMUM HEIGHT OF
6.70° AND A MAXIMUM LENGTH OF 24.00".
GLAZING IS NOT IMPACT RESISTANT AND DOES
NOT MEET THE REQUIREMENTS FOR
WIND—-BORNE DEBRIS REGIONS.

2. MINIMUM OF 1° OVERLAP ON BOTH JAMBS
REQUIRED TO MEET NEGATIVE DESIGN
PRESSURES.

3. SUDE LOCKS OR OPERATOR REQUIRED.

4. SECTION STEEL TO HAVE THE FOLLOWING
MINIMUM THICKNESS:
421, 423 - 20 GA
427, 429 — 24 GA
434, 436 — 25 GA

5. THE DESIGN OF THE SUPPORTING
STRUCTURAL ELEMENTS SHALL BE THE
RESPONSIBILITY OF THE PROFESSIONAL OF
RECORD FOR THE BUILDING OR STRUCTURE
AND IN ACCORDANCE WITH CURRENT BUILDING
CODES FOR THE LOADS USTED ON THIS
DRAWING.

6. TRACK CUPS SHALL BE LOCATED WITH
CENTERLINE OF BOTTOM CLIP SPACED 10"

MAX FROM BOTTOM OF TRACK AND REMAINING
TRACK CLIPS SPACED AT 24" O.C. MAX.
SPACING BETWEEN TOP TRACK CLIP AND
SPLICE PLATE SHALL BE 30" O.C. MAX.

7. WHEN MOUNTING TO WOOD, DOOR JAMB TO
BE MINIMUM 2x6 STRUCTURAL GRADE LUMBER.
REFER TO JAMB CONNECTION SUPPLEMENT
FOR ATTACHMENT TO SUPPORTING
STRUCTURE.

NOTE:
SHOWN. SEE SHEET 2 FOR
C—CHANNEL LOCATIONS ON DOORS
WITH OTHER SECTION QUANTITIES AND
SEE NOTE 1 THIS SHEET FOR GLAZING

SUPERIMPOSED DESIGN PRESSURE
LOADS ON SUPPORTING STRUCTURE

MAX OPTION.

DOOR | MAX UNIFORM LOAD EACH JAMB 1
DOOR | HEIGHT (PLF) SV
24—2"| AL T244.1/-274.3 “_é OF T N

STATIC PRESSURE RATINGS APPROVED SIZES

DESIGN PRESSURE(PSF): +20.2/—22.7 [MAX WIDTH: 242

MAX HEIGHT: 24'—1"

IMPACT/CYCLIC RATED: NO

MAX SECTION HEIGHT: 24

13 GA HORIZ ANGLE\

12 GA MIN HORIZ
TRACK

12 GA CONTINUOUS
WALL ANGLE

12 GA MIN VERT
TRACK N \

5/16"x1-5/8"

LAG SCREW AT EACH
PAIR OF HOLE
LOCATIONS FOR WOOD
SUBSTRATE. SEE SHEET
3 FOR MOUNTING TO
OTHER SUBSTRATES.

(2) 1/4-20x9/16" TRACK:
BOLTS AND 1/4—20 HEX
NUTS AT EACH TRACK
CUP LOCATION

(SEE DETAIL A SHEET 3)

11 GA TRACK G.IPS—/

(WELDED, BOLTED, OR
RIVETED TO WALL
ANGLE) SEE NOTE 6 AND
DETAIL F SHEET 3

SUDE LOCK BOTH mDS/

(NOT REQUIRED WITH
OPERATOR — SEE NOTE 3)

(4) SECTION SOLID DOOR

8 7 |

\
* ‘\|

YJohn

20

REVISIONS |

€ DIOOR
W . . |
H \ d O
\. H x 2>
: / <
0] |5
| 20 GA CENTER —
STILE |
/N b} .
5 —
N ;
{
J
o e
Lo D e
: GA END STILE: SHEET —
OUTSIDE END STILE
WOOD FILLED) ) L — :——-
5 —
/
0]
= o L
5 y [
/ <
d J
4
H 'O
£ .
(EN .
w H u |
i ; i
.\.- /
\V —

Digitally signed
by John

.' . ristia N Christian Voelkel
Date: 2021.06.02
l’ secesccscscsccscccse I Ikel 09:07:00-0500 THE DOORS ARE DESIGNED AND MANUFACTURED TO COMPLY WITH THE 2018 IRC AND THE 2018 IBC.
""'."""""""""'"""'/ D DEORMTIIN TN DL B0 I DART, MAYNCT-BE. COPIED, IN ANV WANNCR. DR HSCUISED Th ARVERE. UATUELY T, FRIDR, VRTTIEN m‘”"‘m%ﬁn%mw
(/ A . ANY (F THIS IRAVING OR INETRWTION 1§ INVENBED T PERATE AS & LIGENSE OR AUTHIRIZATIN T0 USE I FUR ARY PIRFOSE VITWOUT THE SPECTFIC VRITTEN COENT (F OVEREAD DK CIRPCRATIOL
' <% 133174 oy 4 o FINISH o Gemtoc e bt o e | DOE JINDLOAD,OPTION CODE 2050
' '9 © . Q/d’ @ QUOER 231 +nn4/-m + 25 N/A | G gy e | PR AR | 1714721 21/423/427/429/434/436,
. O ., ( / eo K @ 251 T0 500 +006/-003 | 'x 2T oo o e e 2/-22.7 PSF, 24'-27 MAX
‘ CENS o e L 4 oo wa vius |nVER 500 +008/-.003 3 i 0o | HEASRE J GIAN 121/21 e D= 411802
‘ & v 0\ -' S i) Bool XXX tao | N/A PRIVED B vezraL Mreer
‘\SSIONALe“ - RF oW | S %16 waes 5 | Ea T ELARK e
ptevee gy | 4 | 3 | | 1



chris
Texas


1/4-20x9,/16" TRACK BOLT
AND 1/4-20 HEX NUT

THROUGH THE SLOT IN THE
TRACK AND TRACK CLI

12 GA COMMERCIAL TOP FRAME
BRACKETS WITH 13 GA ROLLER

CARRIERS, EACH ATTACHED WITH
(4) 1/4—14x7/8" SELF DRILLING
CRIMPTITE SCREWS

3" STEEL ROLLER WITH
7/18" DIA. x 9° LONG STEM
AND 7/16" PUSH NUT AT
TOP ROLLER LOCATION.
1/4" MAX BETWEEN PUSH
NUT AND BRACKET:

ADD (2) 1/4—14x7/8" SELF
DRILLING CRIMPTITE SCREWS
(INSIDE OF EACH INSIDE END HING

3" STEEL ROLLER WITH 9/16"
DIA. x 9° LONG STEM AT ALL
ROLLER LOCATIONS EXCEPT

TOP AND BOTTOM ROLLERS

11 GA MODIFIED WDE BODY
END HINGE ATTACHED WITH
(4) 1/4-14x7/8" SELF

DRILLING CRIMPTITE SCREWS:

14 GA WIDE BODY
INTERMEDIATE HINGE
ATTACHED WITH (4)
1/4-14x7 /8" SELF
DRILLING CRIMPTITE SCREWS

00000000000 0000000000000000000

J. C. VOELKEL

Ay
3 \‘
ff@ ) )
" * 0’

)
J

*

11 GA DOUBLE BOTTOM

(12) SECTION DOORS WITH:

(12) 6" 16 GA 50 KSI C—CHANNELS AND
(8) 3" 20 GA 80 KSI U—BARS

LOCATED AS SHOWN =

-?

(11) 6” 16 GA 50 KSI C—CHANNELS AND
(7) 3" 20 GA80 KSI U—BARS
LOCATED AS SHOWN

(11) SECTION DOORS WITH-\

(10) SECTION DOORS WITH

(10) 6" 16 GA 50 KSI C—CHANNELS AND
(8) 3" 20 GA 80 KSI U-BARS

LOCATED AS SHOWN

(9) SECTION DOORS WITH

(9) 6" 16 GA 50 KSI C—CHANNELS AND
() 3" 20 GA 80 KSI U-BARS
LOCATED AS SHOWN [}=

(8) SECTION DOORS WITH

(E) 6" 16 GA 50 KSI C—CHANNELS AND
(5) 3° 20 GA 80 KSI U-BARS
LOCATED AS SHOWN

(7) SECTION DOORS WITH

(7) 6" 16 GA 50 KSI C—CHANNELS AND
(4) 3" 20 GAB0 KSI U-BARS

LOCATED AS SHOWN

BRACKET ATTACHED WITH (14)
1/4-14x7/8" SELF DRILLING
CRIMPTITE SCREWS (8 OF WHICH
ARE USED TO ATTACH 12 GA
ROLLER CARRIERS)

3" STEEL ROLLER WITH
7/16” DIA. x 9" LONG
STEM AND 7/16" PUSH
NUT. 1/4" MAX BETWEEN
PUSH NUT AND BRACKET. (4) SECTION DOORS WITH
(4) 6" 18 GA 50 KSI C—CHANNELS AND
(2) 3" 20 GA 80 KSI U-BARS
ATTACH U—BARS WTH LOCATED AS SHOWN
(2) 1/4-14x7/8" SELF
DRILLING CRIMPTITE SCREWS
AT ALL STILE LOCATIONS, TYP.

ATTACH EACH 6° STRAP WITH
(4) 1/4—14x7/8" SELF DRILLING
CRIMPTITE SCREWS AT EACH
STILE LOCATION AS SHOWN

/
ATTACH EACH 6" C—CHANNEL '
WITH (1) 1/4—14x7/8" SELF
DRILLING CRIMPTITE SCREW AT
EACH STILE LOCATION AS SHOWN—:

THE DRAVINGS AND ALL DTHER INFDRMATION

CONTAINED HEREIN ARE THE

AND PROPRIETARY

(6) SECTION DOORS WITH

(6) 6" 16 GA 50 KSI C—CHANNELS AND
(4) 3" 20 GA 80 KSI U—BARS
LOCATED AS SHOWN [}=2

(5) SECTION DOORS WITH

(5) 6" 16 GA 50 KSI C—CHANNELS AND
(3) 3" 20 GA 80 KSI U-BARS
LOCATED AS SHOWN

i?

IS

OF OVERHEAD DOOR CORPORATION AND ITS AFFILIA

COMPANIES.

THIS

AND INFORMATION, IN VHOLE DR IN PART, MAY NOT 3E COPIED IN ANY MANNER OR T AT UITHOLT T PRIDR, URLTToN, CONGINT L DVERVEAD, IR CORPLRATION 16 DISGLOSURE D
STATIC PRESSURE RATINGS APPROVED SIZES AR\ - A F TS AR (R JETRWTEN 1§ NICNC) T0 WERATL 45 4 LIONSC (R WIMBKATON 10 VS 1T F W PURFDS, VIO T SPCCFIC VRITTEN CINSONT ( (VGRIGAD IR CORLRATIN
: 24-2" T i, SOEVLE S | INDLOAD,OPTION CODE 2050
. MAX WIDTH: 24'-2 N/a | St gy s T'Clark | 114721 431/423/427/485/434/436,
DESIGN PRESSURE(PSF): +20.2/-22.7 T J, CHRISTIAN VDELKEL, PE 2/-22.7 PSF, 24'-2° MAX
MAX HEIGHT: 24’1 312 N.'NEW' VARRINGTON ROAD, UNIT 1A UNIT OF | mereriad SERIAN 1/21/21
IMPACT/CYCLIC RATED: NO MAX SECTION HEIGHT: 241 FENSACOLS, FL MEASLRE v o e D- 411802
TX PE 133174 & ove | EA T CLARK | 1/22/21 ks N/A _ Jsmiz o 3

8 7

6

2 I

1



chris
Texas


MIN 3/16” THICK
STEEL FOR MOUNTING

MOUNTING WALL ANGLE:

EBOXX MIN.

TRACK CLIP
1/4-20x9/16"

TRACK BOLT AND
1/4-20 HEX NUT

QPTIONAL: WALL ANGLE MAY BE ATTACHED TO
SUPPORTING STEEL WITH MIN. (1) 1/4—20x7/8"
SELF DRILLING SCREW WITH 1° 0.D. WASHER AT
EACH HOLE OR PAIR OF HOLE LOCATIONS IN

RUBBER GASKET
1/8" ANNEALED DSB GLASS (MIN)
DLO= 5"X20"

RUBBER FRAME GASKET

TRACK LIEU OF WELDING
MQUNTING TO STEEL DETAIL
CONTINUOUS
WALL ANGLE

(2) 1/4" X 7/16f
SEMI TUBULAR |
RIVITS OR (2) |
1/4"-20 TRACK \
BOLTS WITH NUTS",
OR (2) .28" DIA
RESISTANCE SPOT
WELD

STATIC PRESSURE RATINGS APPROVED SIZES

DESIGN PRESSURE(PSF): +20.2/—22.7 [MAX WIDTH: 242

PLASTIC FRAME

1/8" ANNEALED DSB GLASS (MIN)
DLO= 5 3/4"X22 7/8"

(10) #8X2" SHEETMETAL SCREW
(1) PER VERTICAL FRAME LEG

(1) PER HORIZONTAL FRAME LEG

TPEMVWMBALLDTIERM \TIDN CONT/
AND INFDRMATIDI N.]NVHI.E[I!]NPART,HAYNDTEGBPIEIIINMNWIER[R
ANY OF THIS DRAVING OR INFORMATION IS INTENDED TD

REF_DWG

MAX HEIGHT: 24'—1" 3 MJrzem\fli%':ls\{m m, UNIT 1A
IMPACT/CYCLIC RATED: NO MAX_SECTION HEIGHT: 24] PENSACOLA, FL
T Pt 1re
8 7 6 | 5

Tl CONSENT OF OVERHEAD DOOR
[PERATEASALMISE[RMII‘HIR]ZATWNTDLBEHFWMVHMIV‘IHMTHESPEW'CVW

5é: X 1—5$’|LAG
LOCATION FOR
SUBSTRATE.
uoummc WALL ANGLE-

%)A éq-zmﬁs'

1/4-20 HEX NUT-

3/8" SMPSON TITEN HD,
2-3/4" MIN_EMBED INTO
MIN 2000 PSI CONCRETE
AT EACH HOLE OR PAIR
OF HOLE LOCATION:

(2) 1/4—20x9/16"
TRACK BOLT AND
1/4-20 HEX NUT-
TRACK

NIN 316" THICK
STEEL FOR MOUNTING

MOUNTING WALL ANGLE-

TRACK CuP GLE MAY BE ATTACH
1/4-208/18" STEEL WTH NIN. (1) 1/4-20x7/8"
114‘“/4.-:0 oL SELr DRLLING SOREN WTH i 0.0, aSkeR,
TRACK

AND PROPRIETARY mﬂrwmtmmunmmmmmmm
ANYDNE VITHOUT THE PRIDR VRITTEN MAT.IDN. mnm.usunnr
IIIISBIT I‘.IVERH DOOR_CORPORATIDN

INII.DAI'I OPTION CODE 2050
421/423/427/429/434/436,

DATE
T CLARK 1/14/21

2/-22.7 PSF, 24'-2" MAX

e aIAN 1/21/21

B D- 411802

APPROVED BYi
T CLARK |1/22/21 |o N/A__ [ssw3 o 3

| 1



chris
Texas


		2021-06-02T09:07:00-0500
	John Christian Voelkel




